Efficiency vs dr

y 0.8
<
2 07
>
(8]
§ 0.6
=]
% 05

0.4

0.3

0.2k

0. i
o .0 M
= — DQMStep3 TT_CKF
g —«— DQMstep3_TT_default

L — DQMstepS TT defaultNEWTepolO

T
SIHLALL ki
107 1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |

0.5

P, jet
o
. D

0.35

©
w

0.25

etticiency vs AR(T

o
[N

0.15
0.1
0.05
Vel

Ratio
N

0.95

=
o

-1

1072

w

1
AR(TP, jét)

Efficiency vs pu

0.5
0.45

©
»

0.35

efficiency vs PU

o
w

0.25
0.2
0.15
0.1
0.05]

...............................................

1.0

Ratio

-

o
©

d_n

60 70 80
Pileup

10 20 30 40 50



	Contents
	Page 1


